=0,x>+4x+3=0

(x+3)(x-2)




ol

el
Mo
or
rJ
R

ol
ol

29

o, a+b 9 F

@ 3 B 5

A 1



olJ
.

® 11 12 @ 13 B 14

D 10



@ y=4x*+2

D y=4x*-2

@ y=4(x+2)?

® y=4(x-2)?

® y=4(x-2)2+2



@ 1



mj

=2

(-2
s _3) =
X

K
Hr

=-3

(-2
) _3) =
X



oS 182 oA y = a(x - p)? 4 ¢ & 2 ZOITh 4, p, ¢ 9
HoR &2 A7

yA

N/
D a<0,p>0,g>0 @ a>0,p<0,g<0
®a>0,p<0,g>0 @ a>0,p>0,¢g<0

® a>0,p>0,g>0



3k 710
Ict.
o] 1
Bl
x o]

yl\

@
y=
=2(x
+
1)?
-3
@
y
=
X
~1)?
-3

®
y =
-2
(x
+
1)2
-3
@ y
=2
(x
+
1)2
+
3

®
y =
2(x —
1)2
_|_
3



O|AF A x2 - 2x +a=0, x>+ bx—6=0 2] 5L x=-2

=
L

o]
=

9.

ot

<]

W, ab 9 3 7



A x2+4x-12=09

A’ —3A+B” +4B

B
[ = I

z



11, thg oAb A FA 20| A47E 1749 2L?

O x*4+10x=-24 @ x*-5x-14=0
@ 2x2-8x+8=0 @ x2+4+15=-8x

B 3x24+18x—-48 =0



Oha B[Ol A o] Abekql Ag B et

]
Q@ y=3(x+1)2-x2 @y:x%
© y=dx(x-1) ® y=2(x-1)(x+1)
1 2




13. oAty = ax®+bx+c7b+ 4 (-1.p) . (L.q) & AU p—g = -8
o ), p2 - 3p o] FHL?

D 2 ® 4 3 6 @ 8 ® 10



14. o= T oA y = —2x% +-4x 0] T 27} 2UA] oFE AREE2?

@ AAREH @ A2AHEH ® ABAREH

@ A4AEH ® A 1,3AHE"



15

/Lﬂ ]
& (0
,—8),
(1,
-5), (3,
-5)E
= A
= XL
BX

@ , =3
@ ( |
( ’ )

@

(1, 4)

® (2, -4
)

1o
1
S,
ol
1o



16. o= oAk FollAf Fgghol 7 22 A2

D y=2x2 @ y=x*4+2x+1
@ y=2x2+4x+7 @ y=17x*-2

® y=%(x+3)2—5



17.

7t Aol o]
o] Hgh2?

@D 90 ® 992






19. oA 4x? — 32+ k+ 4 — 09] o] 1AL ), A4 k o] FH2
e

Bei«=



20.

#i7F S ateh Wegle whs AE @8 i A% 2km ) #a
ZFo) 7ol A shR7HAl 12km & B5ohs 5 A 29t 12km
£ WErke o 2l A2 2 AR

D1 @ 2 ® 3 @ 4 ® 5



o] A}

I

Ty =x>4+6x-72 1

Sk
=

3

o]



22. AR AB 919 gt A P oA x Foll H 5419

=13

dol dh-g H =2t
sPOH 9] Wole] HTge Tstolet.
’y}\
A
b

st



ol FF A ax® + bx +c =0 9

=
n

1
.

Eoli, pP+g=2S W

p. q 7t p = 72 7HQ)

25} 0, b2c—|—bc o] 712

- =



b2 — 4ac

>~

HFA A gx2 4+ bx + ¢

[e}

17}

24.

.

ul

.

Ul



25.

th& 1804 ABC = /CAD, BC =
8cm ©]2 AR AC o] Lol AR CD 9
Zolo] 2 vjd wj, A& CD o] do|& +
stol 2},

YR
=%

Q




